Giath

Learning Target: | will solve systems of linear equations.

1. We Do Together
Linel: y = 2x + 4 and Lline2:y = -2x — 8

Visual Guided Practice

Name:

Form A

2. Reflect: What questions do you have?

3-5. You Do Together

1a. Which ordered pair (X, y) is a solution to both lines?
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1b. Notice: 2x +4 and -2xX—8 are both equal toy.

They can be substituted to create a new equation.
Solve to find X, then use the value of X to find y.

2X + 4 = -2x — 8 Since X = , then
2X + 4 = -2 +
y = 20 + 4
4 + 4 = -8
y = + 4
4x = -12
y =
X = Solution=( , )

1c. Notice: The coefficients of X are opposite values.
The equations can be added to eliminate the X
variable and create a new equation.
Solve to find y, then use the value of y to find X.

y = 2x + 4 Since y = , then
+(y = -2 + -8)
= 0 + =2Xx + 4
y = -6 = 2X
Note: The value of y can _
be substituted into =X
either equation. Solution = ( E )

3. Use the graph to find the solution to the two lines.

Linel: y = 2x — 8 and Line2:y = 6
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Solution = ( , )

4. Use substitution to find the solution to the two lines.

y = -5x — 18 and

y=-2x -6

Solution = ( ) )

5. Use elimination to find the solution to the two lines.

-15x — 3y = 6
4x + 3y = 5
Solution=( , )
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(it Visual Guided Practice Name:

=4

Learning Target: | will solve systems of linear equations. FormB
1. We Do Together 2. Reflect: What questions do you have?
Linel: y = 3x + 8 and Line2:y = -3x — 10 3-5. You Do Together
1a. Which ordered pair (X, y) is a solution to both lines? | 3. Use the graph to find the solution to the two lines.
y
Linel: y = 3x — 6 and Line2:y =9
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1b. Notice: 3x + 8 and -3x — 10 are both equal to y. J Solution = | ’ )

They can be substituted to create a new equation.

Solve to find X, then use the value of X to find y. 4. Use substitution to find the solution to the two lines.

y=3x-4 and y =2x -3

3x + 8 =-3x - 10 Since X = , then
33X + 8 =-3x +
y = 3 . + 8
6x + 8 = -10
y = + 8
6x = -18
y =
X = Solution = ( ) )
1c. Notice: The coefficients of X are opposite values. . ( )
The equations can be added to eliminate the X Solution = !
variable and create a new equation. 5. Use elimination to find the solution to the two lines.
Solve to find y, then use the value of y to find X. 4 — 8y = -4
S5x + 8y = 11
y = 3 + 8 Since y = , then
+(y = -3x + -10)
= 0 + =3x + 8
y = -9 = 3x
Note: The value of y can _
be substituted into =X
either equation. Solution = ( , ) Solution = ( , )
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(it Visual Guided Practice Name:

=4

Learning Target: | will solve systems of linear equations. Form C
1. We Do Together 2. Reflect: What questions do you have?
Linel: y = 2x + 8 and Line2:y = -2x — 4 3-5. You Do Together
1a. Which ordered pair (X, y) is a solution to both lines? | 3. Use the graph to find the solution to the two lines.
y
Linel: y = 4x — 8 and Line2:y =4
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1b. Notice: 2x + 8 and -2x—4 are both equal to y. Solution = | )

They can be substituted to create a new equation. — _ . .
Solve to find X, then use the value of X to find V. 4. Use substitution to find the solution to the two lines.

y=2x+9 and y=-5x -5

2X + 8 =-2x — 4 Since X = , then
2X + 8 = -2x +
y = 20 + 8
4x + 8 = -4
y = + 8
4x = -12
y =
X = Solution = ( ’ )

1c. Notice: The coefficients of X are opposite values.

The equations can be added to eliminate the X Solution = ( ’ )
variable and create a new equation. 5. Use elimination to find the solution to the two lines.
Solve to find y, then use the value of y to find X. 3x — 6y = 18
2x + 6y = -8
y = 2x + 8 Since y = , then
t(y = 2x + -4
= 0 + =2x + 8
y = -6 = 2X

Note: The value of y can
be substituted into
either equation. Solution = ( P ) Solution = ( , )
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